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If mx™ — px" = 0, then what is the vall_}e of

Imn 2mn 2mn - 2mn__
@ "l -m?) -0 X +m?) @ X"m’-n?) @ X" m’ +n?)

Iflog (0.57) = 1756 , then the value of

log 57 +10g (0.57)° + log J0.57 is:

(@) 0902 ® 2146 (© 1902 @ 146

Ina certain zoo, there are 42 animals in one sector, 34 in the second sector and 20 in the third sector. Out of this, 24 graze in sector one-
and also in sector two. 10 graze in sector two and sector three, 12 graze in sector one and sector three. These figures also inclide four
animals grazing in all the three sectors are now transported to another zoo, find the total number of animals. :

(@ B b % ) % - (d) None of the above

The ratio of the roots of bx* + nx +n=01is p : g, then

e b o BEE of
»(a);\/;\/; n OO TG Oy

The average age of a couple is 25 years. The average age of the family just after the birth of the first child was 18 years, The average

age of the family just after the second child was born was 15 years. The average age of the family after the third and the fourth children-
(who are twins) were born was 12 years. If the present average age of the family of six persons is 16.years, how old is the eldest child

N .

(a) 6years (b) 7 years o (c) 8years (d) 9years B ]

10% of the voters did not cast their vote in an election between two candidates. 10% of the votes polled were found invalid. The

successful candidate got 54% of the valid votes and won by a majority of 1620 votes. The number of voters enrolled on the voters list

was: '

(@ 25000 (b) 33000 (© 35000 (d) 40000 . ‘

The resistance of awire is proportional to its length and inversely proportional to the square.of its radius. Two wires of the same

material have the same resistanice and their radii are in the ratio 9 : 8. If the length of the first wire is 162 cms., find the length of the other.

a) 64em, (b) 120cm. () 128cm, ~Ad)  132em .

A 20 litre vessel is filled with alcohol. Some of the alcohol is poured out into another vessel of an equal capacity, which is then

completely filled by adding water. The mixture thus obtained is then poured into the first vessel to capacity. Then 6 3 litres is poured

from the first vessel into the second. Both vessels now contain an equal amount of alcohol. How much alcohol was originally poured
from the first vessel into the second ? : o o

(@) 9litres (b) 10litres (©) 12lies - - (d) 12.5litres

The shaded portion of figure shows the graph of which of the following ?
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R : AV (1)
(a)'.'x(y—ix) 2\0' \ ® x(@-2x)<0 © x(y+—2-x)20 @ X(Y"Z‘J‘JSO

: Iff(x"'%’x'%}"W,ﬂienf(m;n)+f(n,m)=0‘

L(a) only whenm=n (b) onlywhenm#n (c) onlywhenm=-n ~(d) forallmandn

A person closes his account in an investment scheme by withdrawing Rs. 10,000. One year ago he had withdrawn Rs. 6000. Two years
ago he had withdrawn Rs. 5000, Three years ago he had not withdrawn any money. How much money had he deposited approximately
at the time of opening the account 4 years ago, if the annual simplé interest is 10% ? .

(@) Rs.15600 (b) Rs.16500 (©) Rs.17280 (d) None of these

It takes 6 technicians a total of 10-hours to build a new server from direct computer, with each working at the same rate. If six -
technicians start to build the server at 11 : 00 am, and one technician per hour is added beginning at 5 :00 pm, at what time will the
server be completed ? » . ’ '
{a) 6:40pm (b)) 7:00pm ' (€} 7:20pm (d) 8:00pm -
A ship 55 kms. from the shore springs a leak which admits 2 tones of water in 6 min ; 80 tones would suffer to sink her, but the pumps
can throw out 12 tones an hour. Find the average rate of sa11mg that she may just reach the shore as she begins to sink.

(8 5S5kmh ) 65kmh : ©) 7.5kmh (@& 85kmh

In 2400 meter race around a circular stadium having a circumference of 1000 meters, the fastest runner and the slowest runner reach
the samé point at the end of the 5 minute, for the first time after the start of the race. All the runners have the same starting point and
each runner maintains a uniform speed throughout the race. If the fastest runner runs at twice the speed of the slowest runner, what
is the time taken by the fastest runner to finish the race?

(@) 20mins () I5mins © 10mins (d) 5mins

Atrain crosses a platform 100 metres long in 60 seconds at a speed of 45 km per hour. The time taken by the train to cross an eléctric
pole, is =

(@) 8 seconds () Iminute - (c) 52seconds (d) Data madequate

fx=1+2a+3a2+4a%+.....(=1<a<1)and
y=1+3b+6b2+108% +..... (-1 <b<1),

then find 1 +ab + (ab)? +(ab)’ +...... in terms of x and y. N
112,13 . - - 1/3_2/3
Xy 14 . x;
@ ATy ® a0 @ eyeg 0 None of these

Two vertical lamp-posts of equal height stand on-either snde of aroad 50m wide. At a point P on the road between them, the elevation

_ of the tops of the lamp-posts are 60° and 30°. Find the distance of ﬁ'om the lamp post which makes angle of 60°.

(@ 25m b 125m ‘ © 165m~ . (d 205m
Misthe cénﬁfe of the circle. £(QS) =10 J2.L(PR)= Z(RS) and PR || Q8. Find the area of the shaded region. (use 7= 3)

@ W00squits () 1dsquits  © Osquits (@ 200squnits

There are three coplanar parallel lmes.]f any p ponts are taken on each of the lmes then find the maximum number of trlangles with
the vertices of these points.

@ p*ép-3) ® P@-) O plp-) @ 7
A and B throw with one dice for a stake of Rs. 11 which is to be won by the player who first throws 6. If A has the first throw, what are
their respective expectations

@ Rs7,Rs4 - (b) Rs6,RsS {¢) - Rs4,Rs7 (@) Rs5,Rs6




DIRECTIONs (Qs. 21-25) : These are based on the following Line Chart : The sales and net profit of XPL Electronics In Rs. croresis
given below.
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1998 1996 ’ 1997 1998 1999
Years '

ID Sales wdpm Net pmfnl

" Note : Net profit = Gross Profit — Tax. Gross profit = Sales— Expenses. The figures for salcs is given at the bottom of the bar chart and
the figures for net profit is given on top of the line chart.

21, What s the net profit percentage of XPL in lv998?

(@) 46% (b) 48% C© 51% . d 62%
22, Which year shéwed the maximum percentage increase in sales? _
(@ 199 (b) 1998 S (o) 1997 - @) 19%
23. By how much percentage has the net profit dropped in 19967 ' -
(8 11% ® 227% © 2 53% . @ Cannot be determined
24. IfXPL sold 20,000 units in both 1998 and 1999, by what percentage has the price per unit changed?
(@ 8™ . b)) 1096% c) 9.86% (d) Cannot be determined
25. The year in which the expenses of XPL Electronic are highest is : - ' .
(a) 199 ' () 1998 ' (c) 1997 ' - (d) Cannot be determined
DIRECTIONS (Qs. 26 to 30) : These are based on the following data. ‘ AT

The following chart gives the production of three major crops (in million tons) acrossﬁve Indlan states in the year 1998.

TIIIITn
]
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26. If Tamil Nadu registers an annual increase of 22 per cent in rice productlon what was the rice production in Tamil Nadu in 1998?
(a)" 1900 million tons (b) 2300 million tons . (c) - 2180 million tons (d) 2520 million tons

27.- What is the ratio of total wheat production in the five states to total sugar productlon‘?
a) 06 b 14 : (© 10 (@ 075,

18




28,
29,

30.

If sugar costs Rs. 700 per ton and wheat costs Rs. 400 per ton, what was the total'worth of sugar and wheat production i in lndla"

(@) 42miltion (b) 21 million ) 10.5million (d) Data insufficient
If the yield per hectare of sugar is 3.86 tons, what is the ratio of area employed to produce sugar in Bihar to Gujarat?
(@ LIS ‘ b 145 () 135 (d) Data insufficient

If these five states constitute 77 per cent of the country’s wheat production and 23 per ent of country’s wheat consumption is
imported, what is the amount of wheat 1mported in 19987 \
(@) 4700 million tons (b) 3%00 million tons (c) 3500milliontons . (d) Data insufficient

: DIRECTIONS (Qs. 31 to 35) : Read the following information and answer the quetions that follow:

. Thecars ata dealership come witha choiceof the follbwmg options : air-conditioning, a cassette deck, leather seats, ﬁower windows,
a sunroof and tinted glass. None of the cars has any other optional equipment. The following conditions apply :

If a car has leather seats, it also has a cassette deck. If a car has a cassette deck, it also has power wmdowé, If a car has power

windows, it also has a cassette deck.

31.

32.

3.

34,

35

Cars with tinted glass have a sunroof, but no air-conditioning. Cars that have air-conditioning have, at most, two other options.
If a car has both tinted glass and leather seats, what is the greatest number of additional options that the car could have?
@1 b 2 ’ ©3 @ 4

Which one of the fdllowing could be a complete and accurate list of options on a car?’

~ (a) -air-conditioning, cassette deck, leather seats, power windows
- (b) -air-conditioning , cassette deck, leather seats, sunroof

(c) cassette deck, leather seats, sunroof, tinted glass
(d) cassette deck, power windows, sunroof, tinted glass '
If a car has power windows and a sunroof, how many different sets of options, at most, can the car have?

@ 2 ® 3 BRCE @ s

If a car has exactly two options, which one of the following could they be?

(a) air-conditioning and cassette deck

(b) tinted glass and sunroof

(c) cassette deck and leather seats : '
(d) ‘power windows and sunroof ’

If a car has tinted glass, which oné of thc following CANNOT be true?

(a) The car has 3 options.

(b) The car has 4 options. -

(¢) The car has power windows and a sunroof.

(d) The car does not have both leather seats and a cassette deck.

nmscnmsfap.sm 40) : Each of the following problems Md‘ a qnelion and the statements lablled (1) and (2) You mustdecide
whether the data gives ia the statéments are sufficient to answmmequesﬂon., ’

3o.

Ifboth ABDC and CDFE are pmllelograms whatisg+r? _
(l) r=7 _ ~ @ p=110

y

F

@ Sﬁlemo;nt (1) ALONE is sufﬁcieni, but statement (2) alone is not sufficient.
(b) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.
(c) BOTH statements TOGETHER are sufficient, but NEITHER satement alone is sufficient.

. (d) EACH statement ALONE is sufficient.




i ﬁmmdnunumnmﬂjﬁlllm afltsmmmnmngupmlty What is the maximum seating capacity of the stadium?

15
(1) 1f1,250 people were to enter the stadium, the stadium would be full oy of its maximum seating capacity.

(2) 1f2,500 people were to leave the stadium, the stadium would be full 1o — T of its maximum sealing capacity.

« {g) Staternent (1) ALONE is sufficient, but statement (2) alone is not sufficient,
(b} Siaternent (2) ALONE is sufficient, but statement (1) alone is not sufficient.
(¢} BOTH statements TOGETHER are sufficient, but NEITHER satement alone is sufficient.
{d) EACH statement ALONE is sufficient.
38, Ifnisan integer, is m even?
(1} 2n is an even integer.
(2} n-1isanodd integer,
{n) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient,
(k) Statement (2) ALONE is sufficient, but statement ( 1) alone is not sufficient.
(c) BOTH statements TOGETHER are sufficient, but NEITHER satement alone is sufficient,
(d) EACH statement ALONE is sufficient.
39. What is the value of x7
() x-S5x+4=0
{2} x is not prime,
(2} Staternent (1) ALONE is sufficient, but statement (2) llun: it niot sufficient.
(b) Statement (2) ALONE is sufficient, but statement ( 1) alone is not sufficient,
{c} BOTH statenents TOGETHER are sufficient, but NETTHER satement alone is sufficient.
- {d) Swatements(1)and (2) TOGETHER are NOT sufficient.
40. A fish tank contains a number of fish, including 5 Fanails, If two fish are selected from the tank at random, what is Ih:pmb.buluy that
both will be Fantails?

{1) The probability that the first !i:h chosen will be a Fantal is E'

4
{2) The probability that the second fish chosen will be a Fantail is 7
(a) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient,
ib) Statement {2) ALONE is sufficient, but statement (1) alone is not sufficient,

(¢) BOTH statements TOGETHER are sufficient, but NEITHER satement alome is sufficient,
{d) EACH statement ALONE is sufficient,

DIRECTIONS (Qs. 41 to 50) : Read the following passages-L, II and IT and give answer based on it.

PASSAGE-

History has shaped academic medical centers (AMCs) to perform 3 functions : patient care, research, and teaching. These 3 mmm
are now fraught with problems becuase the attempt to combine them has led to such inefficiencies as duplication of activities and”
personnel, inpatient procedures that could and should have been out-patient procedures, and unwieldy administrative bureaucrasies,

: One source of inefficiency derives from mixed lines of authority. Clinical chjefs and practitioners in AMCs are typically responsible
to the hospital for practice issues but to the medical sehool for promation, marketing, membership in a faculty practice plan, and educational
accreditation. Community physicians with privileges at a university hospital add more complications. They have no official affiliation with
the AMC’s medical school connected, but their cooperation with faculty members is essential for proper patient treatment. The fragmented

.accountability is heightened by the fact that 3 different groups often vie for the lovalty of physicians who receive research, The medical
school may wish ta capitalize on the research for its educational value to students; the hospital may desire the state-of.the-art treatment
methods resulting from the research; and the grant administrators may, focus on the researchers’ humanitarian motives. Communication
among these groups is rarely coordinated, and the physicians may serve whichever group promises the best perks and ignore the rest -
which inevitably strains relationships.



Another source of inefficiency is the fact that physicians have obligations to many different groups: patients, students, faculty
members, referring physicians, third-party payers, and staff members, all of whom have varied expectations. Satisfying the interests of one
group may alienate others. Patient care provides a common example. For the benefit of medical students, physicianis may order too many
tests, prolong patient visits, or encourage experimental studies of a patient. If AMC faculty physicians were more aware of how much
treatments of specific illnesses cost, and of how other institutions treat patient conditions, they would be better practitioners, and the
educational and clinical care missions of AMCs would both be better served.

A bias toward specialization adds yet more inefficiency. AMCs are viewed as mstxtutrgns serving the gravest cases in need of the
most advanced treatments. The high number of specialty residents and the presence of burn units, blood banks, and transplant centers
validate this belief. Also present at AMCs, though less conspicuous, are facilities for ordinary primary care patients. In fact, many patients
choose to visit an AMC for primary care because they realize that any necessary follow-up can occur almost instantaneously, While AMCs
have emphasized cutting-edge specialty medicine, their more routine medical services need development and enhancement.

* A fina] contribution to inefficiency is organizational complacency. Until recently, most academic medical centers drew the public
merely by ex1st1ng The rising presence, however, of tertiary hospitals with patient care as their only goal has immersed AMCs in a very
competitive market. It is only in the past several years that AMCs have started to recognize and develop strategies to address competltlon
4. The author’s attitude toward the inefficiences at academic medical centers is one of .

(@) reluctant acquiescence - (b) strident opposition

(¢) agonized indecision _ (d) reasoned criticism
42.  The author of the passage would most likely agree with which of the followmg statements about primary care at AMCs?

(a). AMCs would make more money if they focused mainly on primary care.

(b) Burn and transplant patients need specialty care more than primary care.

(c) AMC:s offer the best primary care for most patients.

(d) Inefficiencies at AMCs would be reduced if better primary care were offered.

43.  The author’s pnmary purpose in this passage is to .

(@) discuss the rise and fall of academic medical centers .

(b) explain that multiple lines of authority in a medieal centre create mefﬁcxenmes

(c) delineate conflicts occurring in academic medical facilities

(d) examine the differences between academic and other health care entltles -

4. The author implies which of the following about faculty physicians at AMCs?
() Most of them lack good business sense.
(b) They put patients’ physical health above their hospltals monetary concerns.
() They sometimes focus on education at the expense of patient care.
(d) They lack official affiliation with the medical schools connected to AMCs.
' PASSAGEAI

Founded at the dawn of the modern industrial era, the nearly forgotten Women's Trade Umon League (WTUL) played an mstrumental
Line role in advancing the cause of working women: throughout the early partof the twentleth century. In the face of considerable advers1ty
the WTUL made a contribution far greater than did most historical footnotes

The organization's successes did not come easily; conflict beset the WTUL in many forms

During those early days of American unions, organized labour was aggressively opposed by both industry and government. The
WTUL, which represented a largely unskilled labour force, had little leverage against these powerful opponents. Also, because of the skill
level of its workers as well as inherent societal gender bias, the WTUL had great difficulty finding allies among other unions. Even the large
and powerful American Federation of Labour (AFL), which nominally took the WTUL under its wing, kept it at a distance. Because the
AFL’S power stemmed from its highly skilled labour force, the organization saw little economic benefit in working with the WTUL. The
affiliation provnded the AFL with political cover, allowing it to claim support for women workers; in return, the WTUL gained a potent but
largely absent ally. ‘

The WTUL also had to-overcome internal discord. While the majority of the group's members were working women, a sizeable and
powerful minority consisted of middle- and upperclass social reformers whose goals extended beyond labour reform, While workers argued
that "the WTUL should focus its efforts on collective bargaining and working conditions, the reformers looked beyond the workplace,
seeking state and national legislation aimed at education reform and urban poverty relief as well as workplace issues.

Despite these obstacles, the WTUL accomplished a great deal. The organization was instrumental in the passage of state laws
mandating an eight-hour workday, a minimum wage for women, and a ban on child labour. It provided seed money to women who organized
workers in specific plants and industries, and also established strike funds and soup kitchens to support striking unionists. After the tragic
Triangle Shirtwaist Company fire of 1911, the WTUL launched a four-year investigation whose conclusions formed the basis of much
subsequent workplace safety legislation. The organization also offered a political base for all reform-minded women, and thus helped
develop the next generation of American leaders. Eleanor Roosevelt was one of many prominent figures to emerge from the WTUL.




ﬂnmﬂnﬁ:ﬁmb@pﬂulwdﬂhiﬂﬂwlmI%whmhﬂml&mhdwkahﬁ‘iﬂﬁuﬂin;ﬁeminﬁmIimpnd
Illmd.lshﬂ'leIﬁl-lﬂs:ﬂnduthku]?wmm]l]minI?Sﬂ.llﬂlemmufﬂ:h{dﬂmhymﬁmof-lh-umr}'iubuwrgmizntim
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* humble ending, hmm.ddﬂnnm‘m;mdimirrishﬂummplishmufmnrgmizaﬁmthﬂiuﬁmmm its historical due.

45. The primary purpose of this passage is to '

(8) describe the barriers confronting women in the contemporary workplace

it call readers' attention to an overlooked contributor to American history

(c) critique the methods employed by an important labour union

(d) rebuke historians for failing to cover the women's labor movement adequately
46, mofﬂuhlhﬁngbwchm;mﬂmﬂmiunFﬂderllimufhbwr'sHmnftlqu‘sdetUniunLumu,uilk
' presented in the passage? _ :

(a) The WTUL was an important component of the AFLs multifront assault on industry and its treatment of workers:

(b} Because of Eleanor Roosevelt's affiliation with the organization. the WTUL was a vehicle through which the AFL could gain

access to the White House,

(c) The WTUL was to be avoided because the radical element within it attracted unwanited govemment scrutiny.

(d) The WTUL offered the AFL some political capital but little that would assist it in labour negotiations,

47, Blchnflhefbunwimhch&hhmumm@hﬂmnfﬂ:an'nTnﬂ:UrﬁmLug&E}{CEFr

(1] It organized a highly skilled workforce to increase its bargaining power.

(b) It contributed to the development of a group of leaders in America.

(c) It provided essential support to striking women. i

(d) It helped fund start-up unions for women, :
' PASSAGE- :

Theﬁmm'onufﬂmqicplminginwpmilinmmmytbﬂum;mmMnﬁumﬁminnwﬁe@uhﬁmhm&ﬁng
its strengths and weaknesses and examining mmewmwmmhinmeﬂummdﬂdm
Menﬁrim]imwmﬂ:mbemmhbuisfarnmpwﬁn;mhgiﬁfuriuvlﬁmdamm.

nishwhmﬂlmmxmﬁcphmgnmuy-ﬂinpimmﬁmmehaﬁmmcmmmsthmmtﬁm
who have a strategic plan are concemed with the potential breakdown in the implementation of the plan, Unlike 1980s corporations that
blindly followed their 5-year plans, even when they were misguided, today's corporations tend to second-guess.

Outsiders can help facilitate the process, but in the final analysis, if the company doesn't make the plan, the company won't follow the
plan. This was one of the problems with strategic planning in the 1980s. Inﬂulm&mmlhmmﬂnmimhﬁtha
ﬁwm;rmmmeoiﬁomwhimdmms.thummhingmmmirﬁuampﬂnyandacmhdmrihm]umuﬁ]ladwiﬂu
mi:lurenfﬂaﬁuuﬁ:culndgm:dtlmn'uwhithhadIiulcmdnwﬂﬁﬂuda}r-Mymliﬁnﬂfﬂmmr@n}tﬂtymiﬁhmiumm
hnmﬂﬂmm,m&gmlmmmmmmmim_ o

However, more hands-on strategic planning can produce startling results. A recent survey queried more than 8 thousand small-to-
Mm:iﬁdhlﬁnumm'mnpﬂemmpiniﬂswimamugicplmwmnpmhﬂliMMT_kmtyfmuﬂMmmpmicswiﬂﬂ
mﬁcphmhdmmlmmm&ﬂpmm“wpmdhumfmthmmm .

Pumpmimmulmmphmﬁmmmmmchunhnolonrmdﬂwmnbilityofupm
mmumnimmmmmﬂum.mrmmmmmmwmngmmmmm
whenmﬂrtdymmi:snﬁahlbcmfmbynﬂanTMMjldutiﬂtcmmofchmscdmm:kﬂpllmingm:nmiﬂ.
Hnur,rrmdunmr,mmiuhnwmmynlmmﬂwmﬁmm-mmmﬁmmmlufmimIMrapiddmg&,hngunge
planning expands options and organizational flexibility. '

48. The primarypurpose of the passage is to ; .

(a) refute the idea that change is bad for a corparation's long-term health

(b) describe how long-term planning, despite some potential pitfalls, can help a corporation to grow

(c) compare and contrast two styles of corporate planning ' :

(d) evaluate the strategic planning goals of corporate America today
4, llmhinhmﬁomﬂwmmummnl.mp]umin;duimhI?Eﬂahudullofhmmmminﬁﬁxcm

(2) a reliance on outside consultants who did not necessarily understand the nuts and bolts of the business

(b) :d:p:ndmmml}mr-.-tiulmudclsdmdidnnlulwayspﬂfmlydmﬁbcduwwtﬁupoﬁhmpm}r '

(c} an inherent weakness in the company’s own ability to implement the strategic plan .

{d) nmnfinfnnn:ﬁunuﬂdmﬂmmildjffmﬂttugeuuk:y:mupm
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‘The author most likely mentions the results of the survey of 1,000 companies in order to

(a) put forth an opposing view on strateglc plans so that she can then refute it

(b) illustrate that when strategic planning is "hands-on, it produces uninspiring results

(c) give a concrete example of why strategic planning did not work during the 1980s

(d) support her contention that strategic planning when done correctly can be very successful -

Over the last 20.years the rate of increase in total production.in Workland has been second to none in the world. Howeyer, the growth
is more modest when calculated per capita of total population. Over the last ten years progress has been much slower. '

" If the information above is accurate, which of the following must be true?

52,

5.

@) ‘Workland has a very large population.

(b) Productivity per caplta has not grown as fast during the past ten years,

(c) Total production has increased faster than populatlon growth

(d) The birth rate has declined. .

Between 1979 and 1983, the number of umncorporated business self-employed women increased five times faster than the number of

self employed men and more than three times faster than women wage-and-salary workers. Part-time self-employment among women

increased more than full-time self-employment.

Each of the followmg, if true, could help to account for this trend except

(2) Owning a business affords flexibility to combine work and family responsibilities.

(b) The proportion of women studying business administration courses has grown considerable.

(c) - There are more self-employed women than men. -

(d) Uninorporated service industries have grown by 300 peroent over the period; the ratio of women to men in this industry is three
to one. !

There is no'clear line between health and illness; it is casy to forget what it feels like to be really well and to get gradually used to often

having a headache, feeling irritable, or tired. There is an unrecogmzed proportion of the populatlon that has been tnpped over the

brink into ill health by ublqultous contaminants.

Which of the following statements best descnbes the purpose of the abvoe?

(2) The public must be encoumged 1o have regular medical examinations.

*(b) The public must be warned to be aware of various physical and chemical hazards.

(c) The public must be wamed to treat seriously such symptoms as headaches, irritability, and tlredness

- (d)- The medical professional is not always capable of dlagnosmg illness.

DIRECTIONS (Qs. 54— 55) : In each question, there are five sentences. Each sentence has a pair of words that are italicized and
highlighted. From the italicized and highlighted words, select the most appropriate words (A or B) to form correct sentences. The

- sentences are followed by options that indicate the words, which may be selected to correctly complete the set of sentences. From the
. options ngen, choose the most. appropriate one.

58,

The furlher [A] /farxher [B]he pushed himself, the more disillusioned he grew.
For the crowds it was more of a historical [A] / historic [B] event; for their leader, it was just another day.
The old man has a healthy distrust [A]/ mistrust [B] for all new technology. This film is based on a real [A]/ true [B] story.

- One suspects that the compliment [A] / complement [B] was backhanded.

(a) BABAB (b) ABABA () BAABA ' (d) BBAAB
Regrettably [A]/ Regretfully [B] I have to decline )"our invitation.

T.am drawn to the poetic; sensual [A] / sensuous [B] quality of her paintings.

He was besides [A]/ beside [B] himself with age when I told him what I had done.

After brushing against a stationary [A]/ stationery [B] truck my car tuned turtle.

* As the water began to rise over [A] / above [B] the danger mark, the signs of an imminent flood were clear.

(a) BAABA (b) BBBAB' . .(c) AAABA (d) BBAAB



DIRECTIONS (Qs.56-57):In each question, the word at the top is used in four different ways, numbered (a) to (d). Choose the
option in which the usage of the word is Incorrect or Inappropriate.

36.

51

R,

SORT \ =

(@) Let’s sort these boys into four groups "~ (b) They serve tea of a sort on these trains,
© Farmers of all sort attended the rally. (d) What sort of cheese do you use in pizza?
HOST

(a) A virus has infected the host computer '

(b) Ranchi will play the host to the next national film festival
(c) Kerala’s forests are host to a range of snakes

(d) Ifyou host the party, who will oot the bill

Select the one which would best fill the blanks.

Football evokes a response in India compared to cricket, the almost the nation
(@) tepid,boiling ~ (b) lukewarm,electrifies (c) turbid, fascinating  (d) apocryphal, genuinely fascinates

DIRECTIONS (Qs. 59-60) : Each question consists of four sentences on a topic. Some sentences are grammatically incorrect or
inappropriate, Select the option that mdlcates the grammatically correct and | appropriate sentence(s).

5.

A Last Sunday, Archana had nothing to do.

B, After waking up, she lay on the bed thinking of whatto do.

C. At110'clock she took shower and got ready. ? ’

D. She spent most of the day stipping. .

(2) BandC ®Cc - (© AandB (d) B,CandD

A Large reductions in the ozone layer, which sits about 15-30 km above the Earth, take place each winter over the polar regions,

especially the Antarctic, as low temperatures allow the formation of stratospheric clouds that a551st chemical reactions breaking
down ozone.

B. Industrial chemicals containing chlorine and bromine have-been blamed for thinning the layer because they attack the ozone
molecules, makmg them to break apart,

C.  Many an offending chemicals have now been banned. 7
D... It will still take several decades before these substances have disappeared from the atmosphere.
@ D ~(b) B&D : ()" A&D ’ (d) A&C
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